=LPDB
*UXSD 5R]INiDG ,0, 5= 7\J

7\
$QDI]D RED]YZ L

7\G]
$QDIID RED]YZ L

g VAJQDiyZ PRZ\ (DE ~U VAJQDiyZ PRZ\ (DE ~U
S5yJ 3DZH: $% 5yJ 3DZH: $%
.20387(52:-% ,0 .20387(52:-% ,0
s 5%= 0, 52 s 5= 0, 52
N N 7\G] N
/HNIRUIDIN G2 &/ & =/ & =/ 7HRULD SUJHIZDU]DQLD 3URIHNI JHVSRiRZ\ (DE  GU LQT
z 7HRULD SUTHIZDU]DQLD & >/ 1)3 0, 5= 0, 52 VAJQDiyZ IRQIFJQ\FK =DVIDZQIN ODUFLQ $% N
L VAJQDiyZ IRQIFJQ\FK iZ ~U6]F]CGQDN $% NRPRUD
% iz U 6]F]CGQLDN “RPLQIN SIRI 8-" $% EH]HFKRZD ,0, 5= 0,
N “RPIQIN SIRI 8-" $% 35%&2:-1,% 5%=
35%&2:1.% (/(.7521,.,,
)=<&=1$% 0, $.867<., ,0,
57= 5=
o) AN
< $QDI]D REUD]YZ L \\IQDiyZ PRZ\ Z
2 GU1QT =DVIDZQIN ODUFLQ ~=DICFLD RQ
LQH 0, 5= 0, 52
7\ 7\ 7\
7HRULD SUTHIZDU]DQLD $SDUDIXUD SRPIDIRZD (DE  ~“UKDE 3LDVHFNL OLFKD: SURI 8-~ $%
$QDIID REWD]YZ L VAJQDiyZ IRQIFJQ\FK 35%$&2:1,%$ (/(.7521,.,,%$.867<., 0, 5=
V\JQDiyZ PRZ\ IDE *U 4z =U6]F]CGQDN 0, 52
= 5yJ 3DZHi $% “RPIQIN SIRI 8-" $%
< .20387(52:% 0 35%$&2:1,%
2 ., 5= 0, 52 /(.7521,.,
N $.867<_, 0,
= 5=
L
N
$SDUDIXUD SRPLDURZD (DE *UKDE 3LDVHFNL OLFKD:i SURI 8- $%
35%$&2:1,% (/(.7521,.,,$.867<., ,0, 5=
0, 52
7\
= \FKRZDQIH IJ\F]QH $5~ ,0, 5= 0, 5"= ,0, 52
-DTGHJR VIXGHQID RERZIG]XIH K IDICH ] Z\FKRZDQID IJ\F]QHIR  JDSIVA LQG\ZIGXDIQH
N
7\
7HRULD SUTHIZDU]DQLD
= VAJQDiyZ IRQIFIQ\FK Z
I ZHRUD " 6]F]CGQION “RPIQIN
Q SUJHIZDU]ID SURI 8- =DICFILD RQ
B QD IQH ,0, 5"=
V\JQDiyZ
IRQLFJQ\FK
z =
6]F]1CGQID
N "RPLQIN
SIRI 8-~
=DICFLD RQ
IQH 0

6R




=LPDB
*UXSD 5R]INiDG ,0, 5= 7\J




